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QD) Circle the correct option:

1) 49 and 35 p in words is written as

a) 49 X and 35 paise b) 49 rupees 35 paise  c) 35 rupees 49 paise  d) 49 rupees 35 p

2) 563 paise =

a) ¥ 5and 63 p b) I56and 3 p c) 3563 d) ¥5and 36 p

3) Compare:

1 cup of coffee 1 gallon of water

150 mt 1¢50 mt
a) < b) > c) = d) cant say
4) The combination of notes and coins that can be used to form I 85 is
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5) One hundred twenty four rupees and sixty paise =

a) 124 and 60 p b) 124 and 60 p c) 12 and 460 p d) ¥60and 124 p

QII) Find the result when you:

a) add 250 ml more liquid to the container: + =

b) remove 300 ml liquid from the container: - =

Qlll) a) Malti made 12 ¢ of orange squash, 17 ¢ of lemon squash and 14 ¢ of pineapple squash. Find the
total quantity of squash made by her.

b) Rajesh bought a shirt for I 265, and a trouser for I475. How much money did he spend
altogether?
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QIII) Answer the following questions with the help of the picture given below:
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The tumbler| The jug can The vessel The pot can hold
can hold 2 | hold 5 tumblers| can hold 10 20 tumblers of
’fumbler‘s of of water. tumblers of water.
water. water.

a) To fill a vessel, the number of jugs required is
b) To fill a pot, the number of vessels required is

¢) To fill a pot, the number of jugs required is

QIV) Write the combination of notes and coins you can use to form <68.
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